Day 2 Homework

Directions 1-4: Determine whether the following sequences are arithmetic, geometric, or neither. If it is
arithmetic, find the common difference. If it is geometric, find the common ratio.
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5. Find the sum of the first 100 positive multiples of 5.
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6. Find the first five Ter‘ms of the geometric sequences if a,=9 and a, =4 .
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9. Use sigma (summation) notation to write the sum: 10+15+20+25
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11. Find the nth term of the geometric sequence. Then find the sum of the first 20 terms. Round to 3 decimal

places. @, =16 and a, =8 = -\ 2
Z

g ==
On = a\(r)n \ %20 - \E( \-—(-‘5)) )

ho= 16 (5 |95 =10-66% }




